

$$1. \quad n^2(1 - \sqrt{1 - \frac{1}{n^2}}) = \frac{n^2(1 - \sqrt{1 - \frac{1}{n^2}})(1 + \sqrt{1 - \frac{1}{n^2}})}{(1 + \sqrt{1 - \frac{1}{n^2}})} = \frac{n^2(1 - (1 - \frac{1}{n^2}))}{1 + \sqrt{1 - \frac{1}{n^2}}} = \frac{n^2 \cdot \frac{1}{n^2}}{1 + \sqrt{1 - \frac{1}{n^2}}} \rightarrow \frac{1}{2} \quad (1)$$

$$(1 + \frac{1}{2n})^{n+1} = (1 + \frac{1}{2n})^n \cdot (1 + \frac{1}{2n}) = \left( (1 + \frac{1}{2n})^{2n} \right)^{\frac{1}{2}} \cdot (1 + \frac{1}{2n}) \rightarrow \sqrt{e} \cdot e \quad (1)$$

$$3\sqrt[2]{n} \cdot \sqrt[3]{n} = 3\sqrt[6]{2n} \leq 3 \cdot \sqrt[6]{2n+n^2} \leq 3\sqrt[6]{3n^2} = 3 \cdot \sqrt[2]{3} \cdot \sqrt[3]{n} \cdot \sqrt[3]{n} \quad \text{neudönélés + rúdolás} \quad (2)$$

$$a_n \rightarrow \frac{1}{2} + \sqrt{e} \approx 3 \quad (1)$$

$$2. \quad \lim_{x \rightarrow 0} \frac{\sin x - x}{x^3} \stackrel{(0/0)}{=} \lim_{x \rightarrow 0} \frac{\cos x - 1}{3x^2} \stackrel{(0/0)}{=} \lim_{x \rightarrow 0} \frac{-\sin x}{6x} \stackrel{1}{=} -\frac{1}{6} \quad (1)$$

$C = -\frac{1}{6}$  valamilyen polinomszerű feladat (1)

$$3. \quad f(x) = e^x(x^2+1)^2 \Rightarrow f'(x) = e^x(x+1)^2 + 2e^x(x+1) = e^x(x+1)(x+1+2) = 0$$

$$x_1 = -1 \quad (1) \quad x_2 = -3$$

	$(-\infty, -3)$	$-3$	$(-3, -1)$	$-1$	$(-1, \infty)$	
$f'$	$+$	$0$	$-$	$0$	$+$	(osztópontok 1-1 pont)
$f$	$\nearrow$	max	$\searrow$	min	$\nearrow$	(5)

$$4. \quad \frac{-2}{(x^2+1)(x-1)} = \frac{Ax+B}{x^2+1} + \frac{C}{x-1} = \frac{Ax^2 - Ax + Bx - B + Cx^2 + C}{(x^2+1)(x-1)}$$

$$\begin{aligned} A+C &= 0 & \Rightarrow C &= -A \\ -A+B &= 0 & \Rightarrow B &= A \\ C-B &= -2 & \Rightarrow C &= +B-2 \Rightarrow -A = A-2 \Rightarrow 2A=2 \Rightarrow A=1, B=1, C=-1 \end{aligned} \quad (1) \quad (1) \quad (1)$$

$$\int \frac{-2}{(x^2+1)(x-1)} dx = \int \frac{x+1}{x^2+1} - \frac{1}{x-1} dx = \int \frac{x}{x^2+1} + \frac{1}{x^2+1} - \frac{1}{x-1} dx =$$

$$= \frac{1}{2} \ln(x^2+1) + \arctan x - \ln|x-1| + C$$

$$5. \quad z^4 = 8i \frac{(-8+6i)}{3+4i} = 16i \frac{(-4+3i)}{3+4i} = 16 \frac{(-4i+3i^2)}{3+4i} = -16 \quad (1)$$

$$z = \sqrt[4]{-16} = \sqrt[4]{2^4(\cos\pi + i\sin\pi)} = 2 \cdot \left( \cos \frac{\pi+2k\pi}{4} + i\sin \frac{\pi+2k\pi}{4} \right) \quad (3)$$

$$z = 0, 1, 2, 3$$

$$\begin{aligned} z_1 &= 2 \left( \frac{\sqrt{2}}{2} + i \frac{\sqrt{2}}{2} \right) = \sqrt{2} + i\sqrt{2} \\ z_2 &= 2 \left( -\frac{\sqrt{2}}{2} + i \frac{\sqrt{2}}{2} \right) = -\sqrt{2} + i\sqrt{2} \\ z_3 &= 2 \left( -\frac{\sqrt{2}}{2} - i \frac{\sqrt{2}}{2} \right) = -\sqrt{2} - i\sqrt{2} \\ z_4 &= 2 \left( \frac{\sqrt{2}}{2} - i \frac{\sqrt{2}}{2} \right) = \sqrt{2} - i\sqrt{2} \end{aligned} \quad (2)$$

